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QUESTION 1

Sports complex is publicly owned popular company which provides wide range of community services
like gym swimming etc. sports complex stated mission is to strengthen brand loyalty by investing in
employees, providing new services and delighting customers. The subsidiary aims of the company are
to maximize shareholder value, create a culture of pride in the brand and strengthen the brand loyalty
of all stakeholders. Initially sports complex started his business with two identical leisure centres but in
20X0 one of Centre was sold to a private company, Tushan, which is running that division successfully.
The public governing body of sports complex is concern about financial performance of company and
financial subsidy it has provided to sports complex. Ravi Patel has won a contract act as management
accountant of sports complex. Ravi first assignment is to prepare a report on the operating efficiency
and financial performance of Sports complex. Tushan have kindly provided its operating and financial
performance for the purpose of benchmarking. Both company provides same type of four services gym,
swimming, squash and badminton.

Following information is available for sports complex and Tushan:

Data categorised by leisure activity for 20X6

Squash Swimming Gym Badminton

*S *T *S *T *S *T *S *T
Number of hours per day that the 12 13 10 15 12 15 6 8
facility is open
% utilisation of facility +
- daytime 50 20 70 40 15 25 50 40
- evening 80 85 70 80 50 85 50 60
The average number of people 6 n/a 29 n/a 20 n/a 6 n/a
attending per hour who pay
Price per person per hour $4 n/a $2 n/a $3 n/a $4 n/a
Annual cost savings if activity is 21 25 120 105 51 60 60 52

discontinued ($000)

*S = Sports complex
*T = Tushan
+ = Includes free access customers
Cost data ($000)
Actual
20X5 20X6 "20X6
*S *T *S *T *S *T
Salaries 450 350 500 400 550 350
Maintenance contract 150 75 200 100 200 90
Depreciation 25 50 25 50 25 50
Other costs 125 100 75 25 125 150

Loan interest None 200 None 125 None 200
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You should assume that there are 350 working days for both companies.

Tushan’s basic source of income is membership fee of 500 per member. Tushan do not charge
any extra fee for facilities. Membership fee was not changed in 20X5 and 20X6.

Tushan has witnessed increase in members from 1700 to 2000 between 20X5 and 20X6. The
budgeted increase was from 1700 to 1900 only. This budget was prepared by top level
management of Tushan.

Sports complex wants to encourage sports activities in youth and promote healthy life style for
those who are above 60 years of age and for this reason company has special free access to its
Centre for schools children’s and old citizens. 30% of Total users of sports complex comprises
of those who do not pay anything and have free access to Centres. A recent research has been
conducted by management of has sports complex established the fact that if company charges
fee to current free customers then 60% of free customers will continue to use companies
facilities. The remaining 40% would not use the facilities if free access were to be withdrawn.

Both centres have same capacity and both centres provides same range of services with same
quality but sports complex building is 5 years older than Tushan building. The realizable value
of both building is equal to current market value and is as follows :

20X5 20X6
Sport complex $400,000 $375,000
Tushan $800,000 $750,000

Financial subsidy received by sports complex is equal to its financial loss of the year.

There was no change in sports complex chargeable hours and opening hours during 20X5 and
20X6. The average hourly attendance during 20X5 and budgeted attendance for 20X6 for the
Sports complex Centre was as follows:

Budgeted
Squash 9 8
Swimming 31 37
Gym 23 25
Badminton 5 10

With the exception of the avoidable costs identified i.e. the annual cost savings if an activity is
discontinued, all costs are generally fixed overheads.



9 The Sports complex Centre had all its long-term debt repaid in full by the local authority in
19WS8. It has no outstanding debts.

Required:
Write a report to board of director of company to:

(a) Compare the operational and financial performance of the Sports complex
Centre and Tushan
(20 marks)

(b) Assess the validity of appraising their relative performance from the data made
available to you.
(5 marks)

(c) Make any necessary adjustments to the data used to appraise performance above in
section (a) to develop an alternative and more appropriate comparison of their
financial performance.

(6 marks)

(d) What additional information would you require to provide a more appropriate and
comprehensive comparison of the financial performance of the two centres?
(5 marks)

(e) Traditional financial measures of performance have been criticised for not providing a
broad enough basis for the assessment of organisational performance.

Identify a range of appropriate Non-Financial Performance Indicators for the leisure
centres which, when taken in conjunction with traditional financial indicators, would
provide a comprehensive assessment of performance.

(10 marks)

Professional marks will be awarded in question one for format, style, structure and
clarity of the discussion.

(4 marks)

(Total: 50 marks)



QUESTION 2

M Group (M) has developed internationally over the last 30 years and now trades in many diverse areas.
Fifteen years ago, the company launched M Airlines, which has proved to be one of its most successful
business ventures. Five years ago, the company established M Rail and obtained franchises for running
rail services in its home country. However, M Rail has not achieved the success that M had intended and
is frequently publicly criticised for providing services which do not run on time.

The majority of the citizens in M’'s home country have heard of the brand and the Chairman believes the
reputation of the brand name places a heavy burden of responsibility on M not to disappoint its
customers. The Chairman himself has impressed his own personality on M by pursuing personal publicity
in business ventures and becoming involved in high-profile and sometimes dangerous 'leisure’ activities.

M has achieved a reputation for entering markets which are dominated by major companies, and has
been successful in taking business from some major competitors by exposing their consistently poor
service and complacency.

The principal business approach which has been adopted is that of 'brand stretching’ across different
products and services. Each company within the group runs its own affairs but they are all encouraged to
help each other resolve their particular problems in a kind of family spirit.

Key strategic factors
The Chairman has stated that M is in business 'to be different’ and that the M brand name should be
clearly associated with this.

It is considered essential by the Directors that any products or services incorporated within the brand
must help to build its good reputation, provide an opportunity to add value, and yield an appropriate
trade-off between risk and rewards.

The Chairman considers that there are a number of key factors which have contributed to the success of
M. The brand name is associated with being the consumer’s champion, and has been very successful in
delivering what the Chairman refers to as a 'sense of excitement’ in most ventures to which it has been
applied. In addition, the business contacts which have been established are important and he recognises
that his own personality attracts customers and venture partners. M also encourages talented staff within
the group to interact with each other in order to solve problems. The management style of M is
therefore seen as a major contributory factor in its corporate success. Much weight is placed on its
corporate image. The Chairman explains that the quality of a customer’s experience when coming into
contact with M is the most important item in determining its success.

Management style

The Directors agree that the first priority in being able to achieve success is for M to ensure that the
Group employs personnel of the best quality and calibre. Their simple philosophy is that motivated staff
lead to satisfied customers which results in repeat and new business and provides benefit to the
shareholders.

M has a flat management structure with few authority levels within the hierarchy. The Chairman himself is
committed to providing good communication channels within and outside the group. He believes very



firmly that managers within the organization must be prepared to listen both to the customers and also
the staff.

Financial performance

The business approach which has been developed is that the brand name is provided by M with a cash
injection from a joint venture partner. This has generally proved to be a very successful formula although
this has not been the case with the latest venture into the domestic railway market. The Directors
consider that the performance of M Rail will improve following a programme to upgrade the infrastructure
inherited from the previous nationalised rail network.

Comparative financial information relating to M Airlines and M Rail for the last two years at 31 December
is as follows:

2012 2013
$m $m

Turnover
Airlines 570 678
Rail 410 423
Pre-tax profit
Airlines 60 80
Rail 30 32
Capital employed
Airlines 750 790
Rail 530 640

Other performance indicators
The following information is provided relating to M’s airline and rail businesses:

Airline 2012 2013
Number of passengers carried 1.2 million 1.4 million
Passenger miles travelled 3,000 million 3,300 million
Ratio of cabin staff to passengers (excluding

aircrew, i.e. pilots and navigators):

Economy class 1to 10 1to 12
Business and first class lto4 1to5
Number of airline routes flown 40 44

M Airlines sells economy, business and first-class seats to passengers. The prices reflect the level
of comfort and service. For example, first-class seats cost double the price of business class seats
and ten times the price of economy seats.

Airline passenger numbers are expected to increase by 3% in the next two years in the long-
distance economy-class market from which M attracts most of its customers.

There is an increasing level of partnerships emerging among airlines whereby each carries the
other’s passengers as well as its own on designated routes. M is engaged in such partnerships for
two of its routes.

A general survey of satisfaction among airline passengers carried out by independent



representatives from the travel industry in M’s home country ranks M as being within the top three
for most services.

Rail 2012 2013
Number of passengers carried 4.5 million 4.3 million
Passenger miles travelled 160 million 150 million
Ratio of customer attendants to passengers:

Standard class 1 to 100 1to 120
First class 1to 20 1to 25
Number of routes travelled 25 25

M Rail sells standard and first-class seats to its passengers. The first-class seat is priced at about
double that of a standard priced seat.

An increase of 5% in total rail passengers is expected over the next four years.

M operates the railway services under a franchise agreement, which is due for renewal in five
years' time.

The government has established a Railway Regulatory Authority to monitor the quality of the
services provided by the M Group and other railway franchisees, and is constantly increasing
pressure on the franchisees to improve their services.

A general survey of passenger satisfaction carried out by the Railway Regulatory Authority was
highly critical of P’s services with regard to its record relating to punctuality and service on its
trains.

Future development

M has enjoyed considerable success in its ventures within its domestic market. However, the Directors
believe there is much opportunity to develop the brand name within the emerging highly populated retail
markets elsewhere in the world where currently it is relatively unknown.

Required:
(a) Discuss the importance of the external forces which M faces in its worldwide business

development. What Key performance indicators could they use to monitor the impact of
these forces.
(13 marks)

(b) With reference to the comparative financial and other performance indicators, evaluate

the performance of the M Airlines and M Rail companies. Recommend ways in which
they may increase their individual contribution to the future development of the Group.
(Maximum of 5 marks for calculations) (12 marks)

(25 marks)



QUESTION 3

Solar Panel Limited (SPL) manufactures a range of solar panel heating. They have recently developed
the new EF solar panel. The directors of SPL recently spent $20,000 on market research, the findings of
which led them to believe that a market exists for the EF panels

The finance director of SPL has gathered relevant information and prepared the following evaluation
relating to the proposed manufacture and sale of the EF solar panels.
Sales are expected to be 2,700 units per annum at a selling price of $3,000 per unit.
Variable material, labour, and overhead costs are estimated at $1,580 per unit.
In addition, a royalty of $250 per unit would be payable to EF (Environmental
Friends), for the use of their brand name.
Fixed overheads are estimated at $500,000 per annum. These overheads cannot be avoided until
the end of the year in which the EF solar panels is withdrawn from the market.
An initial investment of $7 million would be required. A government grant equal to
50% of the initial investment would be received on the date the investment is made. No tax
allowances would be available on this initial investment. The estimated life cycle of the EF solar
panels is six years.
Corporation tax at the rate of 30% per annum is payable in the year in which profit occurs.
All cash flows are stated in nominal terms and, with the exception of the initial investment and the
government grant, will occur at the end of each year.
The nominal cost of capital is 12%.

Required:
(a) Calculate the net present value (NPV) of the EF solar panels proposal and recommend
whether it should be undertaken by the directors of SPL.
(9 marks)

(b) Comment on three factors other than NPV that the directors of SPL should consider
when deciding whether to manufacture the EF solar panels.
(3 marks)

(c) Explain the term ‘benchmarking’ and briefly discuss the process and potential benefits
that can be obtained as a result of undertaking a successful programme of
benchmarking.

(8 marks)

(d) Briefly evaluate circumstances in which a government can act as an aid to business
performance.

(5 marks)

(25 marks)



